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QUESTION 1

Click the Exhibit button 

You implemented the configuration shown in the exhibit on your route reflector device However, you notice traffic is
transiting the route reflector rather than taking the optimum path. Which two actions would solve the problem? (Choose
two.) 

A. Change the policy to match on the external BGP neighbor. 

B. Change the policy to match on the internal BGP neighbor. 

C. Change a direct peering session between both internal neighbors and use the multihop parameter 

D. Change a direct peering session between both internal neighbors and use the no-client- reflect parameter. 

Correct Answer: BD 
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QUESTION 2

Packets traverse a Junos device configured for class of service. Which two statements are true in this scenario?
(Choose two.) 

A. Packets are subject to traffic shapers before policers. 

B. Packets are subject to policers before traffic shapers. 

C. Packets are processed by behavior aggregate classifiers before multifield classifiers. 

D. Packets are processed by multifield classifier before behavior aggregate classifiers. 

Correct Answer: AC 

 

QUESTION 3

You are provisioning a new VPLS on your PE router. Your customer needs to send Q-in-Q traffic across the VPLS. In
this scenario, which type of encapsulation is required on your PE router\\'s VPLS interface? 

A. ether-vpls-over-atm-llc 

B. extended-vlan-vpls 

C. vlan-vpls 

D. ethernet-vpls 

Correct Answer: C 

 

QUESTION 4

You are connecting your OSPF router to your customer\\'s RIP router and redistributing the customer\\'s routes into your
OSPF domain. Your OSPF routes is part of an NSSA and the ABR is injecting an OSPF default route, which you have
advertised to your customer After committing the configuration, you notice a routing loop between your OSPF router and
the customer\\'s RIP router 

Which action must you perform on your OSPF router to solve this problem? 

A. Enable Type 7-to-Type 5 LSA conversion. 

B. Set the customer-facing interface to passive. 

C. Convert the area to a stub area 

D. Change the OSPF external route preference. 

Correct Answer: D 

 

QUESTION 5
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You are asked to deploy VPLS in your network as a new service for several customers and must identify the
configuration and provisioning requirements. Which two statements are correct? (Choose two.) 

A. PE routers must include a VRF routing instance. 

B. PE interfaces facing customers must have family VPLS configured. 

C. PE routers must create a unique site ID for each CE device. 

D. CE routers must be configured with their assigned route target. 

Correct Answer: BC 
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